ERR2THEE —RESFHRERE
XA DER ; ERR2T4E4A 1B ~FRL284E3H 31 H
B FEE RAERE HY KR ] =
)\é 2,230,000 2,230,000 0 22345 X 10,000 (BE6TEIZEEA)
= - ¢ 2,330,000 2,240,000] A 90,000/(2234:+14) X 10,000/
e 215,748 215,748 0
FEUXA 70,000 70,768 768|FI B FEEHRAR B
&Gt 4,845,748 4,756,516 A 89,232
FHOE
BB TR REER HE R il =
o | 400,000 181,006] A 218,994|fF @ ¥ BESHIE, SRBHLE
B 30,000 29,815 A 185|BMELFE A HHR, PRRE
SRR RS, MRS Eon Sy, P&
FTEE 2,500,000 2,355,562] A 144,438|% . #1k- B A . AR
EEBR 150,000 105,347 A 44,653 |EaE - E{EEE, Btk TS
HEFY 1,030,000 1,030,000 0
HHMXEES
ERE 100,000 123,050 93,050 IF &I & 4 £ HF (54)
Lolieh- o 50,000 50,744 744 | B3t
MR ~25,000 18,785 A 6,215 LERHFBILE (AR %
i 50,748 0 A 50,748
FEAFAPEF ST 500,000 500,000 0
BIE3 (5 - A 10,000 10,000 0
=¥ 4,845,748 4,404,309] A 441,439
NAEF — XHEiH = KEERESE
4,756,516 4,404,309 352,207
EAMEBMIESORE FR2TERERIRAE
B EM T4 RS 1,900,000 [
(E#FEEOE) |4 L& 500,000 9
EEHERE 2,400,000 [ | (Y HA#ksR)
Bk S & (BT A Bk & 40,000
(S EEHIE 10,000 3
SEES 50,000 3 | (¥ #ikeiK)




